B
*
-
[P
©
g
o

’80
£ | 3
T H
e Z N
Q;ﬂ @) ?{_:E
27 Vil
%0 i
7} =
xR o <
z | a2

12

I

I

AubA gl gl Bxlo g [k
/(E]_ —lo] oL_@;F;]_—,y_ ol\;}_‘
AL iR A=IFre]l AAlgr sodd = it
Ae] FA} Azfel] wEE HA HLF
Ak 3H ZELR 24 13 AW 3
18 5.7M¢] zhtsle] 77, 78d EoR o
om ogojolalgml A4tolelEE Adxe] 1.8
%, 2.0%A4 1.2%, 1.3%% Holx @i
271%7% R W i A vjebuieh

o el s 3 A A aEske] 143.8
4, Slaksie 144,122 80wl 3ol wlal
81, 7.3r94 sletalon], JHH%‘: sakel] gl =
A E Rl zha gt 3Ro] 40.8%, #AAF7E 155
%R A 2] 56, 3%7F kel o] FAlgk 2w b

L‘;}_

oo el xutol] il 4

@AV 2k

2ol oAyl wabgel

FEHETE

rlo
o
O.u.

o b

B FIO 03 F}J

Ffraee]

&tmh\lgg

22t

ot m“ﬁr

b

Aoz o

1. RFEE BF

(1) P A BIR5E & (B2 K9/ H)
EREE 80 79 78 77
B oae X % BT | 52.2| 52.4| 52.6| 51.9
AT M S CEE AT 6.5 6.9 7.9 14.0
S ¥ | 48.9| 49.2| 49.1| 48.5
(2) BRFE R B (ML : %)
R 80 79 78 77
MEERclfin | 27.8] 39.8] 43.4| 22.9
BT B 9} vl = | 15.5| 15.0] 20.4] 36.5
BSR4 | 40.8] 35.1] 23.7]| 37.6
o R BB 15.9) 10.1[ 12.3 3.0
(3) 4#&o] WEHE By (H(L T %)
R 80 79 78 77
Eic} fan| 11.0| 11.0] 18.3| 19.4
oK ¥ =k ow] =1 44,0 35.90 46.21 46.5
o4 4| 45.0] 53.0f 35.5| 34.2
2. BRFEME BIE
) BB A% (3 #R) (#hr: M/9)
4 ] 81.3 | 80.3} 79.3 | 78.3
0] & 5% | 143.8 | 151.8| 102.01 105.0
st = 6 | 144.1) 151.4| 101.7 | 105.3
(2) BSEmHE By (¥802 1 %)
5] 81.3]80.3] 79.3] 78.3
R R R o} 5 1.4 89.3] 23.5 5.8
7 4E [ 3 o) w) = 1.9 0.0/| 18.3 9.2
BTERAAR LT | 80.4 0.0| 45.5| 82.1
B K #| 16.3] 10.6] 12.5 2.9
(3) HLFU2SHH (BG2 . [/0)
#H | 81.3 | 80.3 ] 79.3 | 78.3
ORI 2% #1) 13.0 18.7) 13.0] 13.2
4) fﬂ.%uﬁm Ehi (HA(Z %)
£H | 81.3 | 80.3 | 79.3 ] 78.3
(UG ARt /JI] 3.9 92.9] 40.2 3.3
BT A [ 3 o) ) 3.6 3.0] 16.9| 22.6
HTAE A B, DMM 92.6| 4.0] 42.9| 74.1
3. BEWRR
(1) EEARLY] A (H0L 0 %)
EF | 81.3180.3]79.3} 78.3
% 8 ©b| 84.1] 82.0| 85.3| 82.2
A % 9 k| 159 18.0f 14.7| 17.8
2) IR (LR %)
R 80 79 78 77
O R F &K 1.2 1.8 0.2 0.4
ﬁ WO & 1.3] 2.0 0.4 0.6
) BRI RS HAE (07 %)
R 80 79 78 77
Baig 1 9% 8| 53.5] 60.3| 40.2 | 43.4
BFE1%LLF | 195 17.9 16.9| 21.5
7 F 4 o27.01 21.81 42.9| 35.2
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